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In any A ABC, the following relationship holds :
(h3 + 2h,wy, (h, + w},) + wﬁ)3 (wg + 2wym,(wy, + m) + m?)3
h + 2h,wy, (h2 + w?) + wy wy + 2wm (W + m2) + m}
(m3 + 2mh,(m, + h,) + h3)3 - 9.6°.1°
m¢ + 2m.h,(m? + h2) + h — R(9R3 — 64r3)
Proposed by Zaza Mzhavanadze-Georgia
Solution by Soumava Chakraborty-Kolkata-India
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© 9R3 — 64r3 > 2R?(R—r)

= R(9R3 — 64r3) R(9R3 64r3)
o 7t3 + 2t - 64 > 0o (t— 2)(7t* + 16t + 32) > 0 - true
(h3 + 2h,wy (h, + wp) + wb) (wb + 2wpm (W, + m) + mc)3
' hﬁ + Zhawb(hlzl + wg) + wg wb + ZWme(wb + mc) + mc
(mg + 2m:h,(m, + h,) + h ) 9.6%1°
¢ +2mch,(m? + h%) + hg = R(9R® — 6419)
4 A ABC,”" =" iff A ABC is equilateral (QED)




